ANSWERS TEST Schofield & Sims

Check-up test 3

E Colour seven-twelfths of this shape.

1 mark

2 What is one-sixth of 18? 3 1 mark

3 There are 5 purple socks and 4 white socks. l l ' l l

What fraction of the socks are white?

1 mark
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a4l s of Theo’s money is 20p.
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a) How much is = of hismoney? 40 p

b) How much is the whole amount of his money? £ 1 1 mark

2
5 % is the same amount as |——|- |:|

6 1 mark

6 A number line shows tenths. How many tenths is the same as one-fifth?

2 tenths 1 mark

7 One-half is equivalent to how many eighths? 4 eighths | s

8 Some friends share an orange. Emily has % Max has % of it.

Do they have the same amount? Yes D No

1 mark

9 One-quarter is purple. How many twelfths is this?

3 twelfths 1 mark
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1 mark
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